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(1) Gemeral Awvare- | (2} Current |

Tme 1 he

Section i e | o | et
No. of Guestions | 30 (6 e g
Maris per Ques 1 1 |

Fiznts and Animals, India ared the 'Warkd, Stence drd Technologd Earth and b5 Environment, Universe, Eanguage and Litemture. Entertainmend, Soclal Studles,
Spons, Qaantitative Aptitude and Reasaning, Current Aftairs, Life Skills {Empathy, Effective Communication, Critical Thinking, Craathe Thinkrg, Coping with Stes,

Dietision Making, Probdem Soling, Interpersanal Skills Managing Emationy, Sell-mwareress)
Achiewers Section ; Higher Orcder Thining Suestions From the abaovs ghein Syflabus

Identify the given award name and the field inwhich
it iz given,

{A) Faram Vir Chakra-Highest Miltary Award

{81 Major Dhyan Chand Khal Ratna Award-Award
for Lifetime Achigvement in Sports and Games

(C) Sahitya Akademi Award-Literary Honodr given
for Outstanding Work in Literature

(DY MNone of thesa

Which part of the flower turns into fruit?

pAY Ohary (B} Ovules

1C} Petal {I:l}n Corolia

Which of the following islare hmdemadahla'?
(A} The food we eat

(8) The peel of fruits and vegetables

(C) Jute bag

(D Al of these

Who amang the following was nick named 'Flying
Sikh'" by General Ayub Khan?

(A} Jawaharial Nehru (B) Sardar Patel
{C} Pargat $lr‘:gh {D} Mdhha Elrtgh

The headquartars ::|l WHCI is bocated in
(A). London, England

(B} Geneva, Switzerdand

(C) Brisbane, Australia

(D) Madrid, Spain

£ ¥

What is a commaon charactar of the above shown
animals?

(&) They.all ive in water,

(B} They all lack backbone,

() They all have scales on their body.

i Thv.aj..I ‘Eﬂl fﬂ'_o.r eg0s ’rcl repmdtme

Seismograph s associated with which of thﬂ
following natural calamities?

(AY Tamado (B} Earhguake

{C) Flood (D) Forest fire

How many Echva plwara are thers in the basketball
court from each team at a time?

(A} 11 (B) &

{€) 5 o) 7

ﬂL-HIE"v.I'EFtS :‘.\ECTlGN

[dentify the name of the given yogasana.

(&) Tadasana
{2} Pranayvama

(B) Halasana
(D Bhujangasana

Tﬂ Which n1' the fuhnwlng statameants is I.rue"-"

(i} The least number which should be added to
2487 zo that the sum 5 exactly divisible by 3,
4 SandGis 23.

(i) 52168 is divisible by 11.

{A) Both (i) and (i}

(8) Onby (i)

(C) Only (i)

(D} Meither (i) nar {ii)



(1) Werd and

PATTERM & MAREING SCHEME
mhllﬂ‘l! mip-ukinmd

i m“-ﬂ_ﬂ!ﬂ:'
L i el 8

1' 3

Section — 1§ Nouns, Pronguns, Verbs, Avers, Adjeciwes, Arficies, Conjunctinnd, Pregositions, Punchiation and Jumbled Words, Tenses, Woicm, Karation, #1c, Speilings, LoHlocatons,

Pl ke Iediome, Synongms. Anbonym.

Sction — 2+ Soaech Jor e ramrieve afommation froem varioas et ypes ke Bws haadines, Brochunes Fommad and informal fthers, inecery, ., ALquine ioaduntderstanding of
and ik Yo spacilic infomalion in Shom ramabives, Tima sables, Mews stofed, Diary eniry, Paster Malking, Mesdaoey, et

Sectiom — 3.+ Abil by i undersiand stuation-busad eriatons n funcions Toe agreesen and diagresment, Requests, lirkeak, Apalogies, mc

Sacthon = 4 - Hoghier Dider Thinking Quastions - Seflabis a5 per Sectiens 1,2 and 3,

WORD AND STRUCTURE KNOWLEDGE

Direction (Q.No. 1 and 2) ; Choose the best
wordiphrase to complele each sentence

1. What's all that noise? What's ?
(&) aocourning (B} happening
(C) gaing D} playing

2. When you wera 3 ::hﬂl:l L)

i

England every year for your hokdays?
{A) have yougone (B} did you go
{C) are you going (D) were you going

3.  How many words are wrongly spelt in the sentence

below?

The nurce wraped a bandege round his head.
(A) 1 (B} 2

(E} 3 (D) Mone

4. What does it slipped my mind’ mean?
(A) Forgol to do something
(B) Just remember to do something
(C) Something want passed my head
iD) Cannot understand anything

FEADING

Direction (G, No. 5 and &) : Read the passage and
answer he following questions.
Chitdhood

Most people believe thal the best time of one's life is
childnood. There are a few responsibilities and no bills
to worry about. A child does not have to worry about
getting a job, making a successful carear or doing the
rousenold choras, :

This enables a child o have lots of free fime that they
can-devota to play, which can build up their creativity.
This can give children a life that is filled with excitement
and new happenings. Having said this, thera are times
when children might find it difficult to buy all the things

they want with the insufficient pocket money ﬂ-lﬂy gal.
Adults surely have kess restrictions in a few things, when
compared to a chid,

5. Atcording to the passage, a child does not have
to worry about doing the ;
(A household chores
{B) homework
1C) taxes
(D) accounts
6. Adulis have less _
(&) ndepandence
(B) bills
(C) restrictions
(D) restricted behaviour

SPOKEN AND WRITTEN EXPRESGION

Direction (Q. No. 7 and 8) : Choose the maost suilable
aNEWars,

7. Rob: Have you ever eaten something unusual?

Bob: Yes, ;
(A) | have {B) They have
{C) 1 got {DJ Iu:tﬂhave
. Kapil ; Hay Nitin, I'm free now, my friend. Whatda
you want?

Mitin -

(A} Itunuldbaval}-khdnffuutngeqma 5O
bread

(B} | may be grateful if you would get me some
braad

(C) Do mea favour, will you? Get me some broad

(D) | shall really appreciate if you shall get me
bread
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ACHIEVERS SECTION

Direction (Q. Mo, 8 and 10) : Choose the best option (G} get it off my chest
o complate the senlences, (D} make a img stp-x;:_hmt
8. Grace ! | know you are hidirg something from me. 10. 1 ran guickly and cross the field aasily,
Tedl ma. even though i was muddy.
Hamid : Yes thera is something | need 1o tell you (A) i1 able o
and . B may
(&) break the ice (CY can
(B} give you a cald shoulder (O} was able o
Total Qaestione. - 50 Time:: 1 b,
PATTERN B MARKING SCHEME
Section | (1)logical Reasoning | (}Science | {3) Achievers Section
Masks s Ques. 1 : 1 3 |

SYLLABLIS

Section — 1 : ¥eibal and Mon-Verbal Beasaning.

Section = 2 Motion and Memerement of Distances Light, Shadows and Befiocions, Bocmcty and Ciogits, Fon with. Magness, & droond U5 Sorling Maliriald into Groups,
Sepatation of Subitances, The Waeld of Lving {Thaincierssas of Living Deings, Parms of Plants, Body Movements nodaimals snd ddaptation), Compomems of Food

Saction = 3 Hghar Ordar Thinking Quessions - Syllabus a5 per Section = &

e ey e —

. Xis lo the South-West of ¥, L is to the East of X (&) _|_

2

and Scuth-East of ¥ and M is o the Morth of L in (B) E @I 4 >K

& linves willy X, I which direction. oY |5 Miocsted? © R BB T

A South

‘ (©) [%] NN

(B) South-West —_— e

(C) Norh 3. If all the vowels are removed from the seres given

below, then which of the following is ninth to the
:D_f!- Morth-East right of twelfth letter from the right and?
EEEFEBULAMCDIPQORRRAPPFWI

2, Which of the following figures will complete the {A;:R (BI W

given figura matrix? : {Cy 1 oy P

4. Read the following passage carefully. 5. Which of the lollowing joints ks present bebween

Pis found abundantly in cod liver oil and is important thigh bone and shin bone?
for visual efficiency. Qs sourced from amla, tomato (A} Hnge joint (B} Pivot joint
and citnes fruits and its deficiency may cause wounds {Z) Fixed joint (D Ball and socket joint
L”DLT; ';'E:;T uf"’:ﬂ:'::gsnﬁ ':shl““ﬁ“f’ o 6. &small compass is placed beside the middle of a
toddlers may cause daformity of legs. bar magnet.
MNow select the incorrect oplion regarding this. @
(A Focan be found inspinech but not B,
(B In:abzence of R our body will show calcium
deficiency even if it is abundant in our food, In which direction will the compass neadle paint?
{C) Q is also called B-complax as many of its () @ (B) @
varieties are avaiable,
(D) P cannot be dissolved in water. (C) (0 @

e Sample Paper | Clags-6 | SOT — - 73



7. Three glasses P, Q and R having equal amount
of water were laken and agual amount of salt was
addad to each onea of them, After that, Pwas cooled,
2 was heated and R was befl undisturbed. Water

in which giass will now taste most salty?
= Q R

(A P

(B) @

(C} R
(D) Al will taste the same.

Twa boys are standing in front of a plane mirror
as shown |n the given figura. If boy Y walks
5 m towards boy X, then how far away would boy
¥ appear o be in the mirror o boy X7

g | | 12m_.:

(A} 9m
{B) 10m
(C) 1 m
(D) 14m

ACHIEVERS SECTION

. . |
9. Study the given classification char and identify plants P, Q, R and 5. 1 1
|
[_E}em modifications | ]
|
[ [ > 1 1 =
Far food For For climbing | | For storage of water
slorage prﬂ{al::llcln up & suppor and mucilage
B (g # &

P Q R
(A) Dahlia Barbemy Gloriosa
(B) Zamikand Bougainvilles Grapevine
iC) Asparagus Citrus Pea

D) lpomoes FRose Masturtium

1. A balloon attached to
g hollow glass tube
was submerged in a
container of waler as
shown hare. Rohan

Water

Aloe
Opuntia
Aloe
Dpuntia

Liluss mabe
Comtainer
Balloon

placed his mouth over the apen end of the

glass tube and blew air into it. He obsary

ad

that the water lavel in the coantainer rose.

This exparimeant 1ells us that air

(i} has mass

(i) octupies space

(i) has a definite volume
[lv) can be compressed
(A} (i), (i} and {iv) only
(B} {5}y and {iil} only

{C) (i) and {ii) only

(D} (H) only

SYLLABUS _
Sectlen — 1 2 Verbaland Kon-Varbal Reaspning,
Sectlon — 2 : Knowing Due Nusben, Whole Nusbers. Playing with Mumbers, Bavc Goomeirical Ideas, Understanding Elementary Shape, Inegort. Fracions, Decimals, Dita
Heralling, Mensuration, Algshea, Basie and Proporion, & 3 o
Seciion = 3 : Syllabus a5 per Section — 3.

Section = 4  Highay Dinder Thinking Cuestions - Syfaben as per Section = 1

£5- —
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1. Find the next term in the series given below, (AY 15 {B)Y 16
3F, 6G, 111, 18L, ? IC) 14 By 7
{A) 210 (B) 25M % How many dals lie opposite lo the face having four
{C) 27P (2} 270 dots, when the given net of cuba is folded?
_— SO L
2. Find the minimum number of straight ines reguired . .
to' draw the given figure, .
L ]
¥ H|E =
-
£l
29
1Ay 2 {B) 1
(c) 5 (D) &

4. The given table shows the temperature of a city for 5. To balance the scale, find the missing fraction.
T consecutive hours, 1 7
11 10
L hind
i 24 (8) 24
the lowest temperature of the ity over the 7 hour (© ©) -
24
period, =+ - —
':A} 1;!:![: . EUH-UE[B.
(B) 29°C =1+ 56— (28) + (- 1) —{-82) + (- 3)
E) 291G (A} 161 (B) — 161
(D) 25'C {C) 158 (D) - 158

EVERYDAY MATHEMATICS

7. On a hill, the tamperatu

re at 8 p.m. was 2°C but at 8 Vishal jogged around a rectangular field

the mid-night of the same day, it fall down to -3°C. 4 times. If the rectangular field was 135 m long and
By how many degrees did the temperature fali? 78 m wide, then how far did Vishal jog?

{A) 6°C (B) 5°C (A) 426 m (B) 852 m

©) 2°C ) 3°C (C) 1278 m {D) 1704 m

8. Fiﬂl.H'E P is made up of six identical SOUATES. PsQ

Two squares were remaved from figure 10. Flndli'ra'.raluauf[ = ]:n: {4

P to form figure Q. The perimeter of figure P is x

240 em. What is the perimeter of figure Q7 {iy 100 lakhs = _Q millions

{A] 220 em ' (i} _A_ crores = 100 millions

(B) 180 cm {ii) 100 thousands = _P  lakhs

(C) 200 cm (iv) 10 crores = _8 millions
(A) 10 (B) 100

(D) 160 cm Figure: P Figure @ (C) 10 (D) 1

m——— Zample Papear | Class-B | s¥r - — — — -h-



{1} Loglcad | (¥ information | (4} Achlesers
Rexsoming | 171 COmputer Science | o nalogy Section

10 R
= i

Secttion = 1 ; Vierbal and blon-Verbal Reasoning.

Saation - 7 : Hitury and Generation of Compurers, Types of Computers, MS-Winies 160, M WoredWorking with Chars and Tabls, Using Layout 18] Srranging maltipe wisdows ol 4
fiscuiment], hS-PoveerfointiC mating gresentation using Animalion, Working with Asnmations and Transtinns, Crapting new slides using Sides pane, Wasrking 'sith Handouts and Noses
Matter, Aranging mutiple windsws of & présentations, Werding wish Charts and Tables], Metworking and Cybes Sefaty, inbndction to' QBasic, Hirchsrs. Soltwars tnput & Chstpunt
Ciewicrs, Memory B Sinrmge Devioes

Section - 3 : Al, Robatics, T Gadgers, Devices; Apps, Computerization, 2nd ofher Developments in the Fieid of 1T,

Section ~ 4 ; Highar Ordes Thinking Ciieition, - Sylabios as per Sections 2 5l 1

Questions are bused an Windows 10 and M5-Office 2016,

LOGICAL REASONING

1. There is a certain relationship between fig, (i) and 2. Which of the faliowing options will comglete the given
(). Establish the same relationship between fig: pattern?
(it} and (iv) by selecting a suilable figure from the

; : E22 117, 012, 7
options which will replace the (?) in fig. (iii).

: (A) S7 {B) T
&. ‘ A (C) T7 D) T6
5 Rt L . =
FAY ? @ 3. Ayan walks 20 m North from his house, turn
{iy (i (il {iv) right and walks 10 m. turns left and walks
O A Gl A 15 m_ln mad::h his grandfather's hnusa._ In which
(M) iB) @ direction is his grandfather's house from his house?
O (A} South-West
A A 1B} Morth-East
[[#3] O{_‘} o) ":I (C} East
|\ | ) (D} Morth

COMPUTER SCIENCE

4. Which of the following

memory does not store data {C) Start Manu

permananthy? (O This P_{T- uah !
:gl; :;’;dﬁ“ EE; EEM 5, tab of MS-Word 2016 allows you to set
the page farmatting options.
5. Identify the given icon with respect to (A) Home
windows 10. (B) Insert
{A) File Explorer (C) Design

{B) Recycle Bin ﬂ%_ (D) Layout

e EE T ww e o e —

INFORMATION TECHNOLOGY

e

7. Which of the following isfare available by default in B, The given image is of which is an

Windows 107 androsd _ .

{A} Cortana (A) Kitkat, operating system |
{B) Microsoft Edge (B) Lolipop, operating system ﬁ
() iTunes (C) Jelly Bean, operating system

(D) Both (A} and (B) (D) Cupcakea, operating system

+ - — _ﬁfl'lﬂﬂ'mﬂapapﬂﬂﬂm-ﬂ- —



o,

9. What would be the output of given QBasic code if
uzer anters the valie of A= 10 and B = 207
LS

INPUT A

INPUT B

SUM=A+B

Ay = SLIM2

PRINT “SUM="; SUM
PRINT “Average=", Avg

(A} SUM= 30 (B) A=10
Avarage= 15 B=20
SUM = 40
Average = 10

ACHIEVERS SECTION

{C) A=10 (D) SUM = 30

B =20 Avg =15
SUM = 30
Average = 10

10. Transition effect deals with the entrance and exit

of a slide in a slide show. Which of the following
vategones of Transitions ks depicted in the given

image of MS-PowerPoint 20167
S = a o
i N
Dissolve Chackerboa...  Blinds Clock
(A Subtle
(8) Exciting

{C) Dynamic Content
10 Statie Contant

Fotal Quimtions ; 50

PATTERN & MARKING SCHEME

: Section {1} History (2} Gaography Political Life | Eection
St | ST e e
!.l.-t;.p:r q?_u. 1 i 1 =

SYLLABUS

Section - 1 : History - Studying the Past, The Eary Humans, The First Cities and e Vedic Age, The Early Kinodoms and Mew Ideas, The Firgt
Emsping ~ The Maurya, Life i Towns 2rd Willages, New Ernpings and Kingdoms, Cifture and Soence

Section - 2 : Geogeaphy - Planit Earth, is Major Domains and Landforms, Globes and Mags, Our Country —Indin {Physical and Paliial Divisions, Climate, Vegeta-

ticen sl Wikdlife)

Sectian - 3 ; Secial and Political Life — Ditversity and Discimination, Govermement and Key Elements of & Democratic Governmen!, Local Govermment and

Administration, Lvelihoods — Rural and Urban
Saction — 4 : Higher Order Thinkmg Quistians-Syllahis a1 per Section — 1, 7 & 3.

1. Planet "X’ is a cold and dry planet having twa
salelites — Phobos and Deimes, Which planet is

=
(A} Mercury iB) Venus
{C) Mars (D] Mepiune

2, Which of the following cities is not situated on the
banks of river Ganga?
[A) Haridwar iB) Agra
{C) Allahabad (D) Kanpur

4. Itis a blankel-ike layer that surrounds the Earth.
It contains a mixture of gases including oxygen,
which most arganisms need to breathe, It protects
us from the harmful radiations of the Sun. What is

this layver called?
(A) Hydrogphere {B) Geosphere
1S} Almosphere (0} Lithosphenz
4. The southem part of the western coastal plair is
cafled i
w— Samgle Paper | Class-6 | SOF - -

(A) Konkan Coast {B) Norhemn Circars

{C) Minicoy (D} Malabar Coast
The seript of the Harappans was

iA) Roman {B) Latin

[C) Brahmi (D) Pictographic

The pipal tree under which Gautam Buddha attained
enlightenmenl, came 1o be known as

(A) Dharmachakra Vriksha

(B) Ashtangika Marga

{C) Bodhi Vriksha

(D) Bodhisativas

Who takes care of the land records at the village
level?

(&) Patwari

(B) District Colector

(C) Chowkidar

(D} Tehsitdar

— — ——




8. Municipal Corporationsissus o paople
to run their business in cities,

{A) Licenses (B) Money
{C) Areas (D) Al of these

ACHIEVERS SECTION

9. Which of the following statements are corract?

() Aswe move away from the equator, the size of
thie parablels of latitude decreaszes

(i} The zone which recelves the maxdmum haat s
called the temperale zones,

(Y Imindia, the bongitsde of 82157 s E iz reated as
the standard meridian

i) The Earth has been divided into baslve Hme
zones of one hour each.

LAY i) and (v} ondy

(B} {iVand ([} only

(G} (i) and (i) only

(D) {iyand {iv) onky

10, Match column | with codumn il and select the correct

aption,
Column | Column Il
{P} Smali-scale map (i) Small area with greater

details
{Q) Large-scale map (i) Roads and railways
{RY Thematic map (hiy Map of large regions
{S) Physical map (v} Mountains and rivers
P Q R 5
Ay G @ (v
(B} () () ay
{Cy Giiy ) {iy (i)
Dy iy (i) iy i)

2 R ]

wE- 1 -, -, e S, T En, v -, e e, e, e 1 B, R e e, fen o e s e i

wvivA i fmn-Grea, A, gl o, it wless w et
w3 ol nguhn, afits wean gEve we eeifend)

TWE-A: TR e o Wi sl e sl ool 2 ok T SR seqin

1. 9,9 8 ¥R EF A
71
b o 1 o
(E) E
(7} Haw
(m)
2. feoifafis & & st v Afasst T8 7
{w) fFmiasmm
{=) fagmm
(7)) wEETE
(=) fEomtEnE

3. ‘mEEel' T WHW = =
(&) F=EaE
(/) wEaE

(M) A
(%) %M

Protfefian & # 9w faer =-m #7

() (=)

(m) (=)

(mp (¥

] ="y

A To T v H E - e BYE s | aE
Frar = 27
(%) =

(W) EEET

(M} W™

i mE
b dien mben w8
i Tom. Ay T A v e T T S
() T

()

(m) Tomwmi

(") g
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f#qfﬁfﬁammnmmm?aﬁu#wﬁm- 7. wm fem fem & foo e wm &7
() Tfam = fam (@) wwm & g
(%) TR & fom

A U R A b, ams o desf
F1 W &1 TR Tl o forn S e T
A foreg 8 Al wd wee el o Ak v
Y g U vz gt ¥, W afem o A 9T W % few
Er B i T B o R ey
HTAET Wﬂ??ﬁ&mﬁ'ﬁmﬁﬁwﬂaﬂmm?r

(m g % fom

B, W fFE 1e o ag T A7
(F) ramgt =
(M) IFee F

(&) Tawm %
(9] TEY

B. FofEfEd a1 s e R fEEe 10. 7= a1 T Walvm st & faer & af free

A AT

(31) w fore) a0 SifEs w9 3
(H) T A W e sy g
(R) 7o foes o &1 faPm =1 &

() (&) A’ () = @ &
(B (|) 3 (m) = w &
(M) (R 3 (A7) <A wE
() S A R #
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SPACE FOR ROUGH WORK

it FI L o 4. 9 R & ok R | |1 B pEh G 1
LA S R | R A ] 4, 88 5 ) B € A T - I [ L
M50 - 1 M 1 E FE a0 5 A [T T8 & g, g,
Mo =1 a (] 4 B 5. 44 6 (A T 8 B 9. ) o )
L1 R (T S i [E) 44 50 (M [ 7. {0 B g, (A 0. B
1550 = 1. (&) 2. 18] | € q ik} LT ] B . |C] A - R 1Y -1 M i)
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